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* FRAERF A = (B AR L) B P+ <) o B -2 A S T+ SRR 2605 R0 + SR8 B5RE (R 3R 20%) FV FD RD RQ |
F10=(C57+C69+C87+C159) x1.2 G-H-1 10= CHE-G-I~ AL (@) 35.3 385 395 36.2| %
SERH 0.6 0.6 0.7 0.6
F12=(C57+C69+D87+D159) X 1.2 G-H+I 12= D%F-H-J~ iEsa1L 450 65.6 75.0 44815
SERH 0.8 1.1 1.3 0.7
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* FREERF A = (B AR Y B Rl + < B B3 P+ A B P+ SR VR R S ) + AR B RE (R 48 3E20%) FV FD RD RQ |
F17=(D57+D69+C102+C220) X 1.2 G-H-:I 16= CZ%E-G-I~ B4+ (8) 476 50.3 50.3 46.7|%
SERH 0.8 0.8 0.8 0.8
F19=(D57+D69+D102+D220) X 1.2 G-H-I 18= DZF:-H-J~ ST 41.0 46.9 46.9 40115
SERH 0.7 0.8 0.8 0.7
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*  BUBIEAERR =Huoh UAZAERSRR (B A ) + IS (A £EERT (B2 ) FV FD RD RQ |
F24=(D57+D69+C87+C159+C220) x 1.2 G22= C%E:G-I~ B 58.7 64.6 65.5 58.7 1%
SERH 1.0 1.1 1.1 1.0
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*  BUEIEAER R =Hoh UARAERSRR (B ) + ERi (HIZAERSRS (B2 ) FV FD RD RQ |
F29=F10+F17=(C57+C69+C87+C159+D57+D69+C102+C220) x 1.2 B E 829 88.8 89.8 8294
G-H-l1 29= FZG-H:'IN CZ%E-G-I~ SERH 1.4 15 15 1.4
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* N ZAZAERER] = HRoh LAZAE RSN (BEH8) + R (S AR 20500 (3 31) FV FD RD RQ |
F34=(E57+E69+D87+D159+D220) X 1.2 G-H+I 34= DZ%F-H-J~ %1t 710 97.6 106.9 69.8 %
SERH 1.2 1.6 1.8 1.2
FRABZIRERMN GReEET20#E£0EB4E)
* N ZAZAERERT = Huoh LAZAE SRR (RRHB) + HRff (FAZAERSRA (3 3) FV FD RD RQ |
F39=F12+F19=(C57+C69+D87+D159+D57+D69+D102+D220) X 1.2 R8I 86.0 112.6 121.9 8487
G-H-I 39= F&G-H-I~, DZEF-H-J~ SEER 1.4 1.9 2.0 1.4
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